32N #. deicmals, FEIMTEZDEEDIEF

ZE:_ BIC5: A07:

1 | 2
2— )X == 246+ =)=
2= (46+3)

| I 1
29— )= 2(=—=)=
329-3) (773

1 | |
2+ ) x == -~ +3.6)=
2+ 3) %3 3(; +36)

5

1. 3 1

(4_§)X§— (5_38)X§—

www.snowmath.com


https://www.snowmath.com

32D H. deicmals, FEIMTEDEHDIEF

BE_

5=
I
ool W

2-5)x

N =

1. 77
29— -)=—
S VAT)

[E—

1

W]

2+ 2)x

| —

1

(9]

24
(5-3)x24=~

(4-

W] =
~
X

| W
I

2
24.6+3) =10

I 1 1
A7 —5)=3)

1 123
— + 3. =
3(2 3.6) 0

4@—3®=eU)

1
5-38)x - =
(5-38) % 3

www.snowmath.com

6

25

Aics:

Ad7:



https://www.snowmath.com

